full lace wig blonde (4500 R)
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I have a full lace glueless cap wig 100% human hair wig indian remy hair i paid 360dollors for the wig the
mannequin where's it the hair hase 2 tone with Brown roots rest is 613# blonde the cap is medium brown

lace the hair is 18 inch 150

full  lace wig blonde

https://www.freeadsz.co.za/x-9186
1-z

full  lace wig blonde

https://lwww.freeadsz.co.za/x-9186
1-z

full  lace wig blonde

https://www.freeadsz.co.za/x-9186
1-z

full  lace wig blonde

https://www.freeadsz.co.za/x-9186
1-z

full  lace wig blonde

https://lwww.freeadsz.co.za/x-9186
1-z

full  lace wig blonde

https://www.freeadsz.co.za/x-9186
1-z

full lace wig blonde

https://lwww.freeadsz.co.za/x-9186
1-z

full  lace wig blonde

https://www.freeadsz.co.za/x-9186
1-z

full  lace wig blonde

https://www.freeadsz.co.za/x-9186
1-z

full  lace wig blonde

https://lwww.freeadsz.co.za/x-9186
1-z


https://www.freeadsz.co.za/x-91861-z
http://www.tcpdf.org

